
1)

A = 40  B
Find the Angle at side B.

Answer: ____________

2) 2/
12 ÷ 11

/8

Answer: ____________

3) 167.58 ÷ 9.8

Answer: ____________

4) Find perimeter of 
square having each side 
(s) equals 7 in

Answer: ____________

5) b

a o c
Measure angle boa 

Answer: ____________

6) b

a o c
Measure angle boa 

Answer: ____________

7) (8 x 13) + (3 x 46)

Answer: ____________

8) Find the mode of the following set of data:

12, 12, 12, 12, 30, 30, 30, 22, 22, 
43, 43

Answer: ____________

9) Decrease 286 by 5/143

Answer: ____________

10) A number was shared in the ratio 
17:2. The smaller share was 6. What 
was the larger amount?

Answer: ____________

11) What would you multiply by to 
increase an amount by 61%?

Answer: ____________

12) 1   4/8 - 2   9/10

Answer: ____________

13) 12 + (-50)

Answer: ____________

14) 12 + (-50)

Answer: ____________

15) 82 - 16 - 5

Answer: ____________
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16) 3.5 x 20.7

Answer: ____________

17) Solve by factorising 
x2 - 9x + 18 = 0

Answer: ____________

18)

A B = 20
Find the Angle at side A.

Answer: ____________

19) 28.1 x 17.9

Answer: ____________

20) Simplify 5:7

Answer: ____________

Total: ___ / 20

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

August 30, 2021

Sr: 30082021-2289

 

http://www.geekschool.co.uk


Answers:

1) 140 2) 4/33 3) 17.1 4) 28in 5) 124 6) 124 7) 12296

8) 12 9) 276 10) 51 11) 1.61 12) 22/5 13) -38 14) -38

15) 43 16) 72.45 17) x = 6 or 3 18) 160 19) 502.99 20) 5 : 7
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